Paccrosnme d ot Touiku M (XY )
1o npamou Ax+By+C=(
[IpakTryeckoe 3a1aHue:

B1.[lano:M,(5;-3);

B2.[lano:M,(1;3);

B3.[lano:M (-5:4);

B4.Jlano:M,(8;7);

B5.[lano:M,(6;3);

3x+4V-12=0 3x-¥Y-6=0 3x+4V-12=0 5x+2V-10=0 Tx+5Y-35=0
B6.lano:M (-7;-2); | B7.[Jano:M(8;-1); | B8.[dano:M (9;8); B9.lano:M (8;-6); | B10.[Jano:M (4;-2);
8x+4VY-16=0 9x+4V-36=0 7x-3VY-21=0 10x-5Y-10=0 3x-11¥Y-33=0
B11.Jano:M (5;-3); | B12.Jano:M (1;3); | B13.[lano:M (-5;4); | Bl4.[ano:M (8;7); | B15.Hano:M (3;3);
3x+4V+27=0 3 x-¥Y-3=0 x+3V¥-6=0 5x+3V¥V-15=0 Tx+3VY-21=0
B16.lano:M (-6;3); | B17.ano:M (8;-1); | B18.[lano:M (9;8); | B19.[dano:M (7;-6); | B20.[lano:M (4;-2);
Ox+3V+27=0 -9x+4VY-36=0 7x-4Y-28=0 6x-6Y-18=0 3x-8Y-48=0
B21 .I[aHonO(S;—3); B22.I[aH0:MO(5;4); BZ3.I[aH0:MO(5;3); B24.I[aHo:MO(1 1;-1); B25.I[aH0:MO(8;—6);
3x+4VY-12=0 10x+3VY-30=0 Tx+8Y-56=0 9x+2V-18=0 10x-5Y-10=0
B26.lano:M (7;3); | B27.[lano:M (8;8); | B28.[ano:M (-7;2); | B29.[Jano:M (0;8); | B30.dano:M(4;2);
3x-3V¥-6=0 5x+4V-20=0 8x+16Y-16=0 7x-21Y-21=0 3x-9Y+9=0
B31.dano:M (4;-3); | B32.[{ano:M (5;9); | B33.Jano:M (1;-3); | B34.[lano:M (5;6); | B35.[lano:M (2;-3);
4x+3VY-2=0 x+¥-2=0 Tx+2V-22=0 2x+5Y+8=0 2x+5Y+1=0
B36.[dano:M,(0;-3);
Tx+4Y-+2=0 P |Axy + By, + C|

VA? + B?




